N

SIGNATURE
- SERIES -

SLEEK COLLECTION

Guest Chair

o LS

s

A.Mesh Back B.Seat C.Sled base D.Chair Arms E.Screw 5/16"*1-3/4" F.Screw 5/16"*1-1/4"
QTY 1 QTY 1 QTY 1 QTY 2 QTY 4 QTY 3
\
G.Screw 5/16"2-1/4" H.Washer |.Washer J.Allen Wrech K Bracket L.Fixation block
QTY 6 QTY 7 QTY 3 QTY 1 QTY 1 QTY 4
Step 1: Attach the sled base (C) to the mesh back(A) using the bracket(K)
and following components:(J). (F). (I). (H). (K).

Step 2:Attach seat(B) by using the Allen Wrench(J) to

secure screws(E). (H).

3. Save spanner wrench. Check that all bolts, screws and knobs are tight every three months or as needed.

4. Dispose of packing material properly. Do not use the plastic cover as a head covering. It may cause suffocation.
5. Do not use the chair as a stepladder. Use this chair for its intended purpose only.

J 1PC
1PC
______ E _ 4PCS
——_F 8Ccs A\ N\ T
| 3PCS
________ H 4PCS
—_-H_ges N\ 44
———__k__1PC
XK
XA
o
5
%%
Step 3:To attach the chair arms(D), use the Allen Wrench(J) to
secure screws(G) to the seat
J 1PC
c 1PC G__6PCS
B 1PC
D 2PCS
—————— 4
=&
B sy
]
RERSSEes]
B
e
RRRRRREKA]
ERRRRLLKKA
A 1PC GRHHRRRIKKA]
________ potate ot tetote!
QIR
(0%
Warnings 57506
1. This product should be used only one person at a time.
2. Do not use this chair unless all bolts, screws and knobs are securely tightened.




